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(1)  ABCD vd;w ,izfuj;jpy;. P,Q vd;gd KiwNa AB,AD vd;w gf;fq;fspd; 

eLg;Gs;spfshFk;.       =     
 

 
            ABCD vd epWTf?  

(2)  
 
 

 

  

 
 
 

 

ABC,y;BE,CFvDk; nrq;Fj;Jf;fs; H ,y; ,ilntl;Lfpd;wd. gpd;tUtdtw;iw epWTf. 

(i) B,F,E,C xU tl;lg;Gs;spfs; 

(ii)   AEF = ABC 

(iii) A,E,H,F xU tl;lg;Gs;spfs; 

(iv)  AHE = EBC 

 HAE = EBC 

(v) AH ePl;lg;gLk;NghJ BC I nrq;Fj;jpy; re;jpf;fpd;wJ. 

(vi) X MdJ BC ,d; eLg;Gs;spahapd; XE = XF vdf; fhl;Lf 

(vii) FXE = 180
0
 – 2BAC 

(3)                 
 
 
 
 
 
 
 
 
 
 
jug;gl;l cUtpy; %d;Wk; rk MiuAila tl;lq;fshFk;. XAB, DCY Neh;NfhLfshFk;. 
AD = BC Mapd; XBYD Xh; ,izfuk; vd epWTf. 
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(4)    

 

 

 

 

 

BAC ,d; Nfhz ,U$whf;fp B ,Ue;J tiue;J nrq;Fj;J N MFk;. BC ,d; eLg;Gs;sp 

D Mapd; (AB>AC) DN = 
 

 
 (AB – AC) vd epWTf. 

 

(5)   

 

 

 

 

 

 

 

 ABCD Xh; ,izfukhFk;. HK mjw;F ntspg;gf;fj;jpy; cs;s Neh;NfhlhFk;. A,B,C,D 
,Ue;J mjw;F tiue;j nrq;Fj;Jf;fs; KiwNa AP, BQ, CR, DS MFk;. 

AP + CR = BQ + DS vd epWTf. 

(6)   

 

 

 

 

 

 

 

 PQR, LMN vd;gd Neh;NfhLfshFk;     PQK = SMN vd epWTf. 


